Figure 1 shows a skefch of the graph of y = 7(x). The graph has 2 maximum point at (2, 5) and
interseots the x~axis af the poinis (-2, 6) and (6, D).
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Figure 1

{g) Skeich the granh of y= @—} mmdicating the coordinates of the stationiary point and the

coordinates of the points of intersection of the graph with the x-axis, 31

{#} Ficore 2 shows a sketch of the graph having one of the following equations with an
appropoate vaiue of either p, g or .

y=flx+p), where p is a constant

» =7} + g, where g Is a constant
¥ =1f{x}, where r is a constant
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Fipure 2

Write down the equatton of the gzaph skeiched in Foure 2, tozether with the valus of the
comesponding constant. [2]
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